Course: AP Calculus AB | Quiz: 19 | Instructor: D. Shubleka
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The radius of a right circular cylinder is increasing at a rate of 2 in/min and the height
is decreasing at a rate of 3 in/min. At what rate is the volume changing when the
~ radius is 8 in and the height is 12 in? Is the volume increasing or decreasing?

A train, starting at 1 lam, travels east at 45 mph while another, starting at noon from
the same point, travels south at 60 mph. How fast are they separating at 3pm?
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Find a point on the graph of y =&

* at which the tangent
line passes through the origin.
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